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QUESTION 1

Which two customer requirements does the NetApp Information Server solution address? (Choose two.)
A. to provide highly available applications

B. to provide compliant storage

C. to control unauthorized access to specific data files

D. to classify and understand the data content in files

E. to identify and restore individual files from backups

Correct Answer: DE

QUESTION 2

Which three benefits do customers realize when using NetApp storage in their database environment? (Choose three.)
A. simpler storage management and maintenance

B. superior application support

C. quick and easy storage provisioning

D. greater storage utilization

E. easier redeployment of existing storage

Correct Answer: ACD

QUESTION 3

A customer is currently using Exchange and wants to introduce compliant storage for e- mail archiving. Which two
benefits does NetApp offer? (Choose two.)

A. NetApp SnapLock provides compliant storage for the archive.
B. NetApp SnapVault provides compliant storage for the archive.
C. FlexClone can provide instant dataset clones.

D. Primary and archive storage can be on a single NetApp system.

Correct Answer: AD

QUESTION 4
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From the corporate pitch, what does NetApp bring to the complex world of enterprise data management?
A. unmatched scalability

B. unmatched services

C. unmatched simplicity

D. unified architecture

Correct Answer: C

QUESTION 5

Which NetApp Manageability Software Family suite provides comprehensive infrastructure management?
A. Server Suite

B. Storage Suite

C. Data Suite

D. Application Suite

Correct Answer: B

QUESTION 6

Which benefit does NetApp FlexClone provide in a technical design environment?
A. an accelerated time to market

B. a reduced backup window

C. faster application throughput

D. increased data security

Correct Answer: A

QUESTION 7

Most Oracle customers require large development environments and they are concerned about the amount of storage
required to support them. Which statement defines the NetApp value proposition for this situation?

A. NetApp FlexClone provides the ability to almost instantly create development environments without using additional
storage capacity.

B. The NetApp Unified Storage approach allows customers to use both primary and secondary storage for
development.
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C. The NetApp scalable storage architecture allows customers to dynamically grow database environments at their own
pace.

D. NetApp SnapVault uses less storage capacity when creating a development environment.

Correct Answer: A

QUESTION 8

NetApp is in the Leadership quadrant of the Gartner Magic Quadrant for Mid-Range Enterprise Disk Arrays rating of
storage vendors. This is their highest rating and pertains to

A. strategic business partnerships

B. financial stability

C. completeness of vision and ability to execute
D. world-class service and support

Correct Answer: C

QUESTION 9

Which two resources can be used to check the status of a customer\\'s order? (Choose two.)
A. your distributor

B. PartnerCenter

C. www.netapp.com

D. NetApp University Web site

Correct Answer: AB

QUESTION 10

Advanced Single Instance Storage (A-SIS) is a NetApp de-duplication solution. What is one reason to deploy A-SIS?
A. to reduce the time it takes to back up to tape

B. to create a greener data center by requiring less disk storage

C. to speed up the disk to disk backup process

D. to make better utilization of tape cartridges

Correct Answer: B

NSO0-101 Practice Test | NS0-101 Study Guide | NS0-101 Braindumps 4/6


https://www.certbus.com/ns0-101.html
https://www.certbus.com/ns0-101.html
https://www.certbus.com/ns0-101.html

www.CertBus.com https://lwww.certbus.com/ns0-101.html
CE RT 2024 Latest certbus NS0-101 PDF and VCE dumps Download

QUESTION 11

Which three components are included in the NetApp SupportEdge Standard offering? (Choose three.)
A. access to software updates

B. proactive scheduled storage infrastructure reviews

C. phone and online support

D. on-site event support

E. hardware and software installation

Correct Answer: ABC

QUESTION 12

Which three can serve as data migration tools? (Choose three.)
A. SnapMirror

B. MultiStore

C. SnapRestore

D. Virtual File Manager

E. RelicatorX

Correct Answer: ADE

QUESTION 13

What are two ways in which NetApp solutions can help businesses? (Choose two.)
A. by improving business processes

B. by adopting new technology

C. by gaining a competitive advantage

D. by lowering the hardware requirements

Correct Answer: AC

QUESTION 14

Which three customer situations indicate an opportunity exists for consolidation or file services on NetApp storage
technology in a Windows environment? (Choose three.)
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A. The customer\\'s existing Windows environment is complex and contains multiple servers.
B. The customer needs data privacy and intellectual property protection.

C. The customer requires simplification of backup and recovery procedures.

D. The customer requires identification, understanding, and classification of data.

E. The customer needs to reduce administrative and overhead costs.

Correct Answer: ACE

QUESTION 15

Which two customer concerns does the NetApp Manageability Software Family address? (Choose two.)
A. poor utilization of storage resources

B. securely encrypting a storage environment

C. complying with required regulations

D. inefficient IT administration

Correct Answer: AD
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